B

B2

IREBEFR Fridg =S

SRR

HENO. 65-2 [ HApiAK]

<JIERZNE>

#H: EK3046H9H () 10H(H)
28 KT U —F

e ’*&F

X H{&4 BIELB LIOREE Bk | FE | BR | RER |NELZ
UfFiRA44 ] KB - HESE g 3| g S| 2| B B2

7 | S S A T bm A 3R k| 2| mom 2] 8.700 | 7.850 16.550 | 1
(B4 AR |Mix|mE K| 2
UfF R4, ] Fefe . BUE RAH 3 b gkl 3| s fACH 2

8 |JRIR 7 5 5 2k C A A 2 | B 2| RBIG REL 18,250 | 7. 175 15.425 | 2
[EE4] RIL F K| A v 2 | R 1
[FFIR4 ] ER = Bk KM 2|mA me—ss| 2|57 4|3

9 |4R5FE A C ik BME| 2| &R 2k 3| 6| 1] 8. 400 | 7.050 |-0.20 | 15.250 | 3
(4] K% |Wix|#s K| 3 \wk gl 3
[ IR4a ] mCER | Em ocHE| 3|k A3 Tm Ak 3

6 |HEEF R EF WA BRA| 3 ARE HFEA| 2 |VER Z2Rk| 3| 7. 700 | 6. 400 14.100 | 4
[EE4] /A ZR [fix|RE 5 1|R% &Y 1
U441 KBk - H BB 3R RIS 1| R 1

4 |75 RS2 B C A a3 dUs MR 1| A& 1] 6.200 | 5.500 |~0.20 | 11.500 | 5
(4] Kt |ixlzo wmEisE e
UfF b4 ] foe o ime A3 iR EE| 2R k| 2

5 |VHE AR = WK 2| /ME M| 1| scki| 1] 5,600 | 5. 900 11.500 | 5
(BB 4] st il i
[FFIE4, ] i e BAE BR3P k| 3R 3 2

2 | T e C R k|1 MSF| 1| TEE $EIE) 1] 3,950 | 2. 500 6.450 | 7
[E4] Wl HEAN X
Ui b4 ] mUHR BRSO R B 1|40 Bt ]

1 |HEEF &% AL B EF M P LR 5| | EE KR 1] 3.100 | 1.950 |(-0.10 | 4.950 | 8
[EE4] B Zf x| bk 1
[FFIR4 ] 508D - SO | 1| EA RS 1SS &3

3 | mUH S B v A RV E Ak 2.550 | 1.400 |-3.10 | 0.850 | 9
[EE4] WREET X

%) EN
FHR L‘lf g




